EAGRAROBREERT — 2 N— ABISH —F

20205 7R5H (B) 4EpR#H2H

Fl =7 2mo5%x v5%R3mE (BS) GEEl &8 B
[A&£] 1 7 15,000,000 § 2 7% :6,000,000 § 3 3 :3,800,000 . 4 3% :2,300,000 ™ . 5 3 :1,500,000 M
& % B BB Mk ME BF (&) 24 L (&%) | @BIBfr | £3F |SIEH | AK | AE | R FIR) / BE / £EHS
SA AN 43 | IR 1:51.1 1-1-1-1 | 36.4 [101.7| 2 476 | REREX (EH)
1| 71>xXy7 54.0 (=) (g) | EFEAR—LT 1272 (1)
RiTFa—=TA N7 N BT7INRR PR IST NN
R R= . # 3 | dtRR— 1:51.3 5-5-4-4 | 36.1 [100.1 | 1 470 | KEMER (RR)
2|8|11| SATUA—Y 54.0 (1 1/4) (-6) ERaito s
o140 B:IXTUTRA-3F EHAS
— HALLEATE . _n_n_. At+EBE (BER)
317/ 8| T1ITLFa—1o [B] o6 | BH (11.511/.‘{5) 3-3-3-2 [36.5( 981 | 4 <4_562) PR (
R:T79v 724K B:T1ILEXA F A I LY
FREFAR : 00— BEEE (ER)
4 4| TRE=Z b= = it 6 ggo 1.(562).5 2-2-2-2 |37.6| 85.2 | 8 zzg)z Zzuggxﬁz
L:d—WKFPY2—b B:Rb=—U—F> Y A5
K . i 6 | BEHF 1:52.8 10-11-10-8 | 37.2 | 84.0 | 9 454 | BEERE (RR)
5/8l10| /&Y /BYUA 5.0 (1 3/8) Gy | 08 eghTy—g-x. a4
R:gr7—3IUF> B:aq4xa¥UA =2 =N
gy — £ 5 | IIXEA 1:53.1 7-9-11-11 [37.0| 83.0 | 7 494 | PARE (BEX)
6 3|71 —= 57.0 (1/2) © | ) 2=7 2Rt
LA TATv— BFUIFIIES ESlite
SRS o 4 6 | R 1:53.1 9-10-8-4 |37.7| 79.8 | 10 | 462 |ZEEBBX (RR)
71719 | 7> FYaER— 57.0 (1) (o) | AHE=
LY<v—N=K B:T74-L¥T7> = Rl
—: 5 | MEB= 1:53.1 7-6-7-4 | 37.8| 80.0 | 3 492 |MTRLE (ER)
sl o F1v7s [B] # 57.0 () (+4) &) %v0y hTr—h
R:8—MLRIIL B:TFLEHCRUT RIS
B4 | FHARE 1:53.2 6-6-4-4 |38.1| 79.4 | 6 516 | AEBE (ER)
'Y 6 I TAE2A ;7.0 (3/4) (-4) THA
LT RT—EY BiAF a2 75 FHE
S8 5 . 4 5 | ESEME 1:53.3 10-8-8-10 | 37.7 | 78.0 | 5 492 | mE=E (ER)
10 5| ¥>A—XTF v > 55.0 (3/4) -6) EEER
RIS INATA—H— FB:da—JLE— =REAYE
_ N ) . 34— HEFER (FEX)
1lel71—27 (B] i 6 s 1.;5;1).4 3-3-4-8 |39.2| 70.4 | M 30; s (
R:ZAv—h 773> BEFLZAO0F 41— (AYiorie]
@ 21 L
£ 48.8-36.4
NA> 24 L | 12.6-11.3-13.3-12.6-12.5-12.4-12.1-12.1-12.2
® I—F—@EBIERL
13=7r= (x1,4)-(6,8)11-7(2,3)9(5,10)
2a=5F= 1,4(6,8)11-(7,2)-5,3,9,10
Ja=77= (x1,4)8(6,7,11)2(5,9)10-3
40 —F— 1(4,8) (7,2,11,9) (6,10)5-3
[ RN
BB 1 200 | | 741 K 1-11 220M | | B E 1-8 370 | | 3EE 1-8-11 1,050
# B 1 130H4 1-8 660M B = 1-11 400M 3B 1-11-8 4,670
1 110 8-11 370M B H 1-11 750M
8 1909

ARICOVWTRDTEEERROODE. TR LI,




